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1.1
1.1.1

1.1.2

: 3000 (mm)
: 7.000 (m)
: 4.00 (mm)
B

0.0 (°)

FORUM8



1.2
1.2.1
qd
qd =y h
qd : (kN/m*)
y - = 18.00 (kN/m%)
h = 7.000 (m)
qd =y h
= 18.000 x 7.000
= 126.000 (kN/m?)
1.2.2
gl = qlw
2«P-(1+i)-8
qlw =

q

q
P

h
i

B

qlw

gl

2.75+(0.20 +2+h)

1 - (KN/m?)
Iw : (kN/m?)
: = 100.00 (kN)
= 7.000 ()
= 0.000
= 0.900
2P« (1+1i)-8
C2.75-(0.20+2-h)
9 % 100.00 X (1 +0.000) X 0.900
) 2.75 X (0.20 + 2 X 7.000)
= 4.609 (KN/m?)
= qlw

4.609 (KN/n?)

FORUM8



1.3

1.3.

1.3.

1
2)
3)
4)
1
D2
FF = = FFa
E-I
FF - Flexibility Factor (mm/N)
FFa : FF = 0.11 (mm/N)
= 2.0 x 10°(N/mm?)
= 1320.0 (mm*/mm)
D2
FF =
E-1
B 3000°
2.0 X 10° X 1320.0
= 0.0341
FF = 0.0341 (mm/N) FFa = 0.11 (mm/N) 0K
2

o
Fs=—y2Fsa
P

D
P=(qd+q1)°5

Fs :

Fsa : = 3.0

oy : = 855.00 (kN/m)
P (kN/m)

qd : (kN/m?)

gl : (KN/m?)

= 3000 (mm)

= 3.000 (m)

FORUM8



D
P=(Cad+ql)-—
2
3. 000
= ( 126.000 + 4.609 ) X
= 195.91 (KN/m)
pg = 2%
p
855,00
195.91
= 4.36
Fs = 4.36 Fsa = 3.00 OK
1.3.3
fe < A
Fs = © = Fsa
p
Fs :
Fsa : = 2.00
P = 195.91 (N/mm)
A = 4.891 (mm’/mm)
fe : (N/mm?)
24+ E fu? K-D\’
) D= — - DEx fe=fu- —o-
K fu 46 < E T
T 24 < E 12 - E
ii) D> — - ] . fe = ———
ii) K . L&, fe —
-
fu = 274.00 (N/mm*)
E = 2.0 x 10°(N/m?)
r = 16.428 (mm)
D = 3000 (mm)
K = 0.22
r 24 < E 16. 428 24 X 2.0 X 10°
r_ - —\/ = -57.7 (mm)
K fu 0.22 274. 00
D = 3000 (mm) > -57.7 (mm) i) fe
12 - E
fe =

K-D\’
)
12 X 2.0 X 10°
0.22 X 3000\"
( 16. 428 )

1486.96 (N/mi)

FORUM8



Fs

Fs

1.3.4

n

_ fe-A
P
_1486.96 X 4.891
B 195. 91
= 37.12
= 37.12 Fsa = 2.00 OK
Spangler
na
Fd - Fk - ar
E-I +0.061FE -1
Es
2. (1 - u?
n -: (mm)
na: = 0.050 D = 0.050 x 3000 = 150.0 (mm)
Fd : ( ) =1.25
Fk : = 0.110
r 1/2 = 3000 / 2 = 1500.0 (mm)
E = 2.0 x 10°(N/mm*)
1 = 1320.0 (mm*/mm)
Q : (N/mm})
Q=2 r (qd+ql)
qd : (N/mm?)
ql : (N/mm?)
Q=2 r (qd+ql)
=2 x 1500.0 x ( 126.000 x 10° + 4.609 x 10°)
= 391.83 (N/mm)
Es : = 14.7 (N/mm’)
[ I = 0.5
B Es B 14.7
2 (1-pu) 2% (1-0.5)
=9.8
= Fd - Fk + Q- —
E-I +0.061+E -1’
- 195 X 0.110 X 391.83 X 1500.0°
2.0 X 10° X 1320.0 + 0.061 X 9.8 X 1500.0°
=79.7 (mm)
= 79.7 (mm) na = 150.0 (mm) OK

5.0%

FORUM8



1.3.5

= 4.0 (mm)
FF, FFa | mm/N | 0.0341 0.11 | OK
Fs, Fsa 4.36 3.00 0K
Fs, Fsa 37.12 2.00 0K
n,na mm | 79.7 150.0 OK

FORUM8
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